Soln LCP-3

Thursday, February 14,2008
7:46 AM

2. T+« desed 4o assemble
‘e pacts shown. Tha
po\fjﬂur\/ﬁ}\ oot (s 'mi%a\\ﬂ
ot redk on Awo shaded
pege. (contacks 64 G ) -
Agsm% @ sweeess
Whon contact behwesn the
&~ Shaped bDA/:j ot all theee
Nube and contact with 4he moeable ﬂﬂqr\gef\“ have
been achwved . We wodd hlee +o C(JW\(J\e_Jré tha
asm\o\ﬁ oL i Srep.

Dsswne =0, h=1 m=1 J=4 a=02, and +ha gaps
ot covtucke 1,43, 124 ore m—\h’aM o sz 0l
As detred w e gx\'ﬁh\rﬁ/ Pot = [O " Oj—r .

O Watk +the tima—sk ﬁ)"\ﬂ LCP Fhat wodels thig
§§W ok e\'r\g the Cjw/m)iﬂs, chyers
B, 4, 0, 2
Nofrickgn = E 4G, %%‘) W o matuond .
M:diﬂkﬁ (Vy\jw\)j3

“0b O | 1 0 O
G.2l0% -1 o o ' |
O

o O -a v -l

discrete dynamics Page 1



V= LO.[ o\ 0l 0N O O]

WN'=[d oo o0 0 0] < wedmt
<rb‘E) L ] /ngfjfb/w

ol wul loe .

& Choose lmma\(v\mg +o bo Ze® and Pos-lﬁi\re
sudn Ahat | if sehishied , tha pacts will be
AL ?efb assembled.

To onoure. codadh form at O, O, ®, 2@,
set Pia, Pun, Pon, Pan > O
The cam(JLQmamlrmzj constrainde ane s

0= Pon = Pua= Oan= 0 & close 9ps vt
o™ Pin= o= Por the 4 desiced cartosts

Ne ped L moe qm\lﬂm’\s Allow condoncts ©,®
4> [oreade

sek /\OEV\:/Per\: O

@ Solve ’Fo(‘ “H\L NONZL (0 6\0/0:\97\‘\ OQ %—% ) ))Hl, ol
WPV[‘H/ such Fhat the hmo d’ep@ir\g fﬁmh‘ms ang.
sohshod ond Pa i small.

Mt o certan q\/\arﬂLi‘l“Qs runst \94 220 o +he .
end of Fhe Ry step: Thu gtves four e'qméwr\s

Frad com e @lved, A ey, whone Ay ls of
(omle 3. TRacefore sdve by Pz AT +N(A)o.
Use Fhe scalac o to Guamaniee Pa™ 20 ﬁsm\ar

M
B 1 [_QQ’_ _O'_gﬁ f3__] \ J'@vlﬁ) d olve
Eob\ o™ "= O f("m%* 0.\ [017 f hvﬂ'wm

discrete dynamics Page 2



DU!V‘(__

(J.L&n !_O\__:‘_l_ﬁ—é—_{, Ny O\ O 3 l\f-\ﬂcv\%
T e 0 02|yl o | |0 | [ independest
o, - N W | Y 0. 0 guationg 1t
Pan\ O { - O 0

Lth-“ 4 L O | O J I——O VO

Solwtton of thige ¢s Sives pB = [—O.\ N o][

Now solye for d o %ﬁ the wovermunt of —F\r{%ef 4.

ad= - 0.24
Subihhde bade o +he © ectuwﬁ;w\s 9\'\/\7\3 :

(@fwT: LO 0o 00 ol 0.\] Coﬁeijr.’

Now solve for o, Theve one M/\a 4 Hhot one nonzew.

0
Reall Myt = G oM 4 M/ﬂ + Pext

‘?,h\’
Substrhate, -0l |70 O \ | l;ﬂ O
lvuranna 0\ |=]| 0B —I 0 o) Por + |7
volamas 0O O 0 0L I || O
\m\:ﬁf&“
has nontaviad nall spota
Roo (04860 | [0.7955
__= NEER .
4 gplve = [ 071 1L . 0-5804 o
/Pn —10.159L -O. 5627
LO-O%\(}J 0.0725
From Mok VTR T
o Matlal ol naull (A)

TJ'mv AV 10y
O

~

discrete dynamics Page 3



Choose oL 3 D > O ol=-2.0=0 smallist = 0,177

@Qe,c\o P“‘% @ wih contact $ shfkd deronword [DU 2. .
Yo will fird that & s vnpess bl o make ’P&ﬂéoh
Ralate thic pellem gosping - What soct of gragps
do the assembies fscm pat © 4 O 7

CMv\ﬁa‘é\‘L o 0L 1w G amd CewoUc .

-0
))H\ = Xo-ll & ho UW "\U\L

o
[ 6.4393 —0.6704

Sove for a™ = |-07485| + [F0.53)
0.2045|  |-6.5028

-0.0409 0. 1006

Note that o= O = Pon <0 amd P40
/—I:{" ‘jﬁ\}\ '\Y\CWOk%@ L D /Ply\>o W\O\:\LLS prm ME Y\ﬂﬁa,‘}\\l‘ﬁ

In —H«ls Cyse ‘l')\OJ\,(L & o SOLMW W\% anwéO d/

—_——

LOOlL ac} -H’\a. on\aU/m 'pﬂm\ ‘H\ﬂ. ]Mrzpeaj'{v*{ oqp 'QY‘YY\
clotiare ond ‘I‘I’\L Corfﬁpoho{\'r\ﬂ qb-:l{\)/b + SguleL. .

Wk Fhe grginad numiste, Fhe gasp had foom cl.
ot . e chamge for palt D camsed  loss
o’F 1Co‘ﬂrY\ O[. 09# ‘tﬂ%\

discrete dynamics Page 4



